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1. (30) B 2 123 & 5124 712 & > THRERIASER 400mm, 5 X 1.83km QM (A = 0.028)
ZBMUTR Y212 300L/s E5NTWD, A MODEN%E 13.5kPa & T HIXKR Y TOH I IE WL
52750, £72 B mOEHITWLS S50, 72720, BENHOLEEIX 0.86 TH 5, F /- EEEE
KL DB I T 5,

2. KR T & 512d=5mm,L = 10m OHEHHE D KNI 10mm O ZOVHED (1 50T
W3, JAVEKEKEETDEIIES m THLLTHE, BROEES LU LRSI IEWL
5250, 72770, HAOE, dhv s L/ ZV0EkAEEIZ, 1 F40.5,0.2,0.08 & L,
EEEBREIE 0.028 LT 5,

3. WA 30mm D7 A7 7))V MEDENZ KPR T WS, HOMEAY0.012cm T, £ 23 300m
WOWTORENBETE 6mAq & L7 EDMEEZ KD L. 7272 LAKOBREIERENX 0.01em? /s
&3 %. (Moody diagram {# )
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L = pgQH, = 860g x 0.3 x 90.4 = 228.57kw
pB = pa + pgH, = 13.5 x 10° + 860g x 90.41 = 775.4kPa
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Assume Perfect turbulent flow

A1 = 0.028(from moody diagram)
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e 0.03? x 0.64 = 4.58m?> /s = 0.461/s
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